2019

? (2019.09.04)

(2 )



2019-09-04

473,749,000

2019

382,359,000

473,749,000

1 2019-09-04




: 2019

77,614 385,182 81.3
13,660 82,374 17.3 /

116 616 0.1

0 5,577 1.1

3/23



SCRIPT ERROR

(
C )
385,182 307,568 77,614
385,182 307,568 77,614
385,182 307,568 77,614
385,182 307,568 77,614
214,391 211,699 2,692 - (180,356,000 x 1) 5 949 000
- 177,516,000 =
- (34,035,000 x 1 ) - 148,000
34,183,000 =
170,791 95,869 74,922 ¢ ) - (22,070,000 15,920,000
x 1 )-6,150,000 =
( ) : 1,340,000
(3,633,000 x 1 ) - 2,293,000 =
( ) £ (8,000,000 4 o0 000
x 1 ) - 4,800,000 =
( ) - (14,360,000 3,840,000
x 1 ) - 10,520,000 =
( ) - (7,285,000 3.377.000
x 1 ) -3,008,000 =
( ) - (7,317,000 32,000
x 1 )-7,285,000 =
( ) : (11,640,000 4,323,000
x 1 )-7,317,000 =
( ) - (24,595,000 x 0,075,000
1 ) - 15,520,000 =
( ) D (2,160,000 x 1 o000
) - 1,080,000 =
( ) - (1,800,000 x 900,000
1 ) - 900,000 =
( ) S 300,000
(8,300,000 x 1 ) - 8,000,000 =
( ) D L,600,000 o0 0
x 1 =
( ) 201,000
201,000 x 1 =
( ) 754,000
(955,000 x 1 ) - 201,000 =
¢ D 8,100,000 x 1 o0
( ) 60,000
60,000 x 1 =
( ) 1,200,000
1,200,000 x 1 =
( ) 1,440,000
(2,640,000 x 1 ) - 1,200,000 =
( ) ( ) - 2,000,000
2,000,000 x 1 =
i R - 570,000 x 570,000
( ) £3,000,000 4 000 00
x 1 =
( ] 1) ] D 2,872,000 5 0o 000

2019-09-04




SCRIPT ERROR

(
()
¢ 2,000,000
2,000,000
¢ ) 890,000
890,000 x
E B S 577,000  x 577,000
«C ) 5,400,000
5,400,000
«C ) = 970,000 670,000
x 1 =
«C © 401,000 401,000
x 1 =
82,990 69,214 13,776
82,374 68,714 13,660
82,374 68,714 13,660
47,414 47,414 0
46,787 46,787 0
627 627 0
14,640 8,800 5,840
14,640 8,800 5,840 5 . ) - 3,200,000 3,200,000
¢ 1,200,000
200,000 x 6
¢ ) 1,440,000
80,000 x 3
3,960 1,980 1,980
3,090 1,980 1,980 ¢ ) - 1,080,000 1 1,080,000
C £ 900,000 x 1 900,000
16,360 10,520 5,840
16,30 10,520 5,840 ¢ ) £ 3,840,000 1 5 640,000
( ) ) 2,000,000
2,000,000 x 1
616 500 116
616 500 116
500 500 0
500 500 0
116 0 116
116 0 116 = 45,000
2 2019-09-04




SCRIPT ERROR

(
)

: 63,000 63,000

1 8,000 8,000
5,577 5,577 0
5,577 5,577 0
5,577 5,577 0
5,577 5,577 0
5,577 5,577 0
473,749 382,359, 91,390

3 2019-09-04




SCRIPT ERROR

( : )
)

25,025 21,126 3,899
19,797 15,898 3,899
19,797 15,898 3,899
5,551 3,119 2,432

5,491 3,119 2,372 ( )2018 2,372,000

2,372,000 =
60 0 60 ( )2018 60,000
60,000 =

( )13,669 12,779 890

12,476 11,586 890 ( )2018 890,000

890,000 =

1,193 1,193 0
577 0 577

577 0 577 277’000)2218 577,000
5,228 5,228 0
2,300 2,300 0
2,000 2,000 0
2,000 2,000 0
300 300 0
300 300 0
2,928 2,928 0
1,878 1,878 0
1,878 1,878 0
1,050 1,050 0
1,050 1,050 0
159,133 118,810 40,323
75,537 57,322 18,215
75,537 57,322 18,215
627 627 0
627 627 0
852 852 0

1 : 2019-09-04




SCRIPT ERROR

( : )
)
600 600 0
252 252 0
46,133| 44,793 1,340
46,133| 44,793 1,340 € ) 1,340,000
1,340,000 =
4,700 4,700 0
2,426 2,426 0
2,200 2,200 0
74 74 0
200 200 0
200 200 0
22,070 6,150| 15,920
22,070 6,150 15,920 ¢ ) o 15,920,000
15,920,000 =
955 0 955
936 0 936 és,soo )x 5 - 201,000
és,soo )x 11 = 735,000
19 0 19 ( ) 19,000 = 19,000
12,241  13,701|  -1,460
3,261 3,651 -390
1,040 740 300
740 740 0
300 0 300 300,000 x 1 = 300,000
861 861 0
861 861 0
10 10 0
10 10 0
550 1,240 -690
250 940 -690 -690,000 = -690,000
140 140 0

2 : 2019-09-04




SCRIPT ERROR

( : )
)

160 160 0

5. 800 800 0

800 800 0

8,980 10,050 -1,070

1. 2,830 2,950 -120
2,830 2,950 -120 -120,000 = -120,000

2. 1,650 2,350 -700
1,650 2,350 -700 -700,000 = -700,000

3. 500 750 -250
500 750 -250 -250,000 = -250,000

4. 4,000 4,000 0

4,000 4,000 0

59,555 36,820 22,735

24,595 15,520 9,075

1. 24,595 15,520 9,075
24,595 15,520 9,075 5 L - ) 8,265,000 8,265,000
( ) 810,000 x 1 = 810,000

31,000 19,320 11,680

1. 12,000 8,800 3,200
12,000 8,800 3,200 ( 1 ) i} 3,200,000 3,200,000

2. 16,360 10,520 5,840
16,360 10,520 5,840 § 1 z 3,840,000 3,840,000
g,ooo,ogo x1 = ( ) 2,000,000

3. 2,640 0 2,640
2,640 0 2,640 ( ) 1,200,000

100,000 x2 x6 =

( 83’000 <3 x6 = 1,440,000

3,960 1,980 1,980

1. 3,960 1,980 1,980

3 1 2019-09-04




SCRIPT ERROR

( : )
)

3,960 1,980 1,980 g 1 z 1,980,000 1,980,000
11,800 10,967 833
7,000 7,000 0
3,500 3,500 0
3,500 3,500 0
3,000 3,000 0
3,000 3,000 0
500 500 0
300 300 0
200 200 0
4,800 3,967 833
4,100 3,267 833

4,100 3,267 833 833,000 = 833,000
700 700 0
700 700 0
60,656 48,763 11,893
36,585 25,380 11,205
11,032 5,426 5,606
1,800 1,800 0
1,800 1,800 0
1,882 1,276 606

1,882 1,276 606 ( ) 606,000 = 606,000
190 190 0
190 190 0
1,000 1,000 0
1,000 1,000 0
1,160 1,160 0
960 960 0

4 : 2019-09-04




SCRIPT ERROR

( : )
)
200 200 0
) 3,000 0 3,000
3,000 0 3,000 € % ’ 200,000
10,000 x 20 =
( )1 ’ 100,000
100,000 x 1 =
( )1 400,000
200,000 x 2 =
( % 83,000
83,000 x 1 =
( ) 217,000
217,000 x1 =
( )2 300,000
300,000 x 1 =
( )2 300,000
150,000 x 2 =
( )2 140,000
140,000 x 1 =
( )2 150,000
150,000 x 1 =
( )2 110,000
10,000 x 11 =
( )3 180,000
15,000 x 12 =
( )3 3,000 96,000
X8 x4 =
( )3 40,000
10,000 x 4 =
( )3 480,000
20,000 x4 x6 =
( )3 100,000 100,000
x 1 =
( )3 10,000 80,000
X8 =
( )3 3,000 24,000
X 8 =
( 2.00 0 2,000
468 0 468, ¢ , . ) 234,000 468,000
1,260 0 1,260 5 , - ) 70,000 140,000
( ) 14,000 x 40 1,120,000
X2 =
272 0 272/ ¢ ) 8,000 32,000
X 4 =
( ) 3,000 x40 240,000
X2 =
200 200 0
200 200 0
200 200 0

5 : 2019-09-04




SCRIPT ERROR

( : )
)

5,620 4,650 970
1,400 1,400 0
400 400 0
1,000 1,000 0
3,250 3,250 0
3,250 3,250 0
970 0 970

970 0 970 ( ) 970,000 x 1 = 970,000
1,200 1,200 0
1,200 1,200 0
400 400 0
800 800 0
870 870 0
870 870 0
870 870 0
300 300 0
300 300 0
130 130 0
170 170 0
6,140 3,500 2,640
3,500 3,500 0
200 200 0
3,300 3,300 0
2,640 0 2,640

2,640 0 2,640 ( ) 1,200,000

100,000 x2 x6 =

é0,000 )x 3 x6 = 1,440,000
11,223 9,234 1,989
250 250 0

6 : 2019-09-04




SCRIPT ERROR

( : )
)
250 250 0
2. 360 360 0
360 360 0
3. 420 420 0
420 420 0
4. 2,160 1,080 1,080
2,160 1,080 1,080 |( 190,000 x 2 = 380,000
( 70,000 x 10 = 700,000
5. 300 300 0
300 300 0
6. 600 600 0
300 300 0
300 300 0
7. 2,880 3,044 -164
100 64 36 36,000 = 36,000
1,500 1,500 0
1,200 900 300 300,000 = 300,000
80 580 -500 -500,000 = -500,000
8. 0 250 -250
0 100 -100 -100,000 = -100,000
0 150 -150 -150,000 = -150,000
9. 0 150 -150
0 150 -150 -150,000 = -150,000
10. 53 120 -67
53 120 -67 -67,000 = -67,000
11. 1,060 1,360 -300
1,060 1,360 -300 -300,000 = -300,000
12. 700 700 0
7 : 2019-09-04




SCRIPT ERROR

( : )
)

700 700 0
840 600 240

640 400 240 240,000 = 240,000
200 200 0
1,600 0 1,600

1,600 0 1,600 ( ) 900,000 x 1 = 900,000

5 ) 20,000 x 6 120,000

( ) 165,000 x 2 = 330,000

E ) 250,000 x 1 250,000
24,071 23,383 688
12,986, 13,130 -144
300 300 0
300 300 0
1,206 1,180 26

1,206 1,180 26 21,000 = 21,000

5,000 = 5,000
2,400 2,400 0
2,000 2,000 0
400 400 0
1,750 1,750 0
1,750 1,750 0
500 500 0
500 500 0
2,200 2,200 0
2,200 2,200 0
519 500 19

519 500 19 19,000 = 19,000
11 200 -189

8 : 2019-09-04




SCRIPT ERROR
( : )
)

11 200 -189 -189,000 = -189,000
9. 1,600 1,600 0
1,600 1,600 0
10. 2,500 2,500 0
776 776 0
1,320 1,320 0
404 404 0
6,765 6,515 250
1. 6,145 5,895 250
120 120 0

6,025 5,775 25014-6 124,000 = 124,000

4-6 , 78,000 = 78,000

24,000 x2 = 48,000
2. 620 620 0
620 620 0
2,370 1,800 570
1. 1,800 1,800 0
1,800 1,800 0
2. 570 0 570

570 0 570 5 57 = 10,000 570,000
900 900 0
1. 900 900 0
900 900 0
1,050 1,038 12
1. 1,050 1,038 12
300 300 0

750 738 12 12,000 = 12,000
64,318 46,945 17,373

9 2019-09-04




SCRIPT ERROR

( : )
(G
57,404| 40,432 16,972
19,000 15,300 3,700
7,000 6,500 500
4,000 4,000 0
2,500 2,000 500 ( ) 500,000 = 500,000
500 500 0
8,000 4,800 3,200
8,000 4,800 3,200 € ) 82,000 3,200,000
x 100 =
4,000 4,000 0
4,000 4,000 0
28,000 14,428 13,572
14,360 10,520 3,840
14,360 10,520 3,840 5 6 = ) 100,000 600,000
( ) 540,000 x 6 = 3,240,000
11,640 3,908 7,732
11,001 3,675 7,326 ( ) 3,156,000 = 3,156,000
( ) 32,000 = 32,000
( ) 4,138,000 = 4,138,000
639 233 406 221’000) 3 4 221,000
iss,ooo) = * 185,000
2,000 0 2,000
2,000 0 2,000 5 ) 2,000,000 2,000,000
10,404 10,704 -300
8,604 9,804 -1,200
7,086 7,086 0
1,518 2,718 -1,200 1.200,000 = -1,200,000
1,800 900 900
960 480 ag0 ¢ < 15 ) : 32,000 480,000

10 : 2019-09-04




SCRIPT ERROR

2 ( )
)

840 420 420\ ( ) . 420,000 = 420,000
6,814 6,413 401
6,814 6,413 401
1,813 1,813 0
1,813 1,813 0
4,600 4,600 0
4,600 4,600 0
401 0 401

401 0 401 g 1 = ) 401,000 401,000
100 100 0
100 100 0
100 100 0
100 100 0

50,614 42,214 8,400

8,910 8,910 0
8,910 8,910 0
1,000 1,000 0
1,000 1,000 0
740 740 0
140 140 0
600 600 0
2,670 2,670 0
1,200 1,200 0
1,050 1,050 0
420 420 0
3,100 3,100 0
2,500 2,500 0
600 600 0

11 : 2019-09-04




SCRIPT ERROR

(
)

5. 1,200 1,200 0
1,200 1,200 0

6. 200 200 0
200 200 0

4,265 4,265 0

100 100 0

1. 100 100 0
100 100 0

3,355 3,355 0

1. 100 100 0
100 100 0

2. 1,000 1,000 0
600 600 0

400 400 0

3. 2,255 2,255 0
2,255 2,255 0

810 810 0

1. 100 100 0
100 100 0

2.119 710 710 0
710 710 0

18,100 10,000 8,100

18,100 10,000 8,100

1. 10,000 10,000 0
3,300 3,300 0

6,300 6,300 0

400 400 0

2.1-2 2,700 0 2,700

12

2019-09-04




)
)
2,700 o 270 ¢ ) 10,000 x 24 >4 960,000
« 15,000 x2 x5 150,000
( ) 400,000 400,000
x 1 =
( ) 500,000 1,000,000
x 2 =
( ) 190,000
190,000 x 1 =
3.3-4 2,700 0 2,700
60 0 60| ¢ ) 30,000 60,000
x 2 =
2,640 0 2,640 € ) 980,000
10,000 x 14 x7 =
( ) 20,000 640,000
x 16 x2 =
( ) 16,000 224,000
x 14 =
( ) 600,000
300,000 x 2 =
( ) . 196,000
14,000 x 14 =
4.5-6 2,700 0 2,700
2,700 0 2,700 ( ) 400,000 x 2 = 800,000
( ) 20,000 400,000
x 20 =
( ) 150,000 600,000
x 4 =
c 100,000
100,000 =
( ) 600,000
100,000 x 6 =
( ) 50,000 x 4 = 200,000
12,200| 11,990 300
500 500 0
1. 500 500 0
200 200 0
300 300 0
11,790| 11,490 300
1. 3,490 3,490 0
2,990 2,990 0
500 500 0
13 : 2019-09-04




SCRIPT ERROR
2 ( : )
)
2. s ( 8,00 8,000 0
0 500 -500 SW -500,000 = -500,000
4,253 3,605 648 -846,000 = -846,000
, -100,000 = -100,000
SW 1,044,000 = 1,044,000
550,000 = 550,000
3,747 3,895 -148 PC -148,000 = -148,000
3. SW ( 30p 0 300
110 0 110 ( Jsw 110,000 x 1 = 110,000
140 0 140 ( Jsw 20,000 x7 = 140,000
50 0 501 ( Jsw 50,000 x 1 = 50,000
7,049 7,049 0
7,049 7,049 0
1.PC 5,800 5,800 0
5,800 5,800 0 - (FC, TV, ) 1,800,000 1,800,000
-1,800,000 = -1,800,000
2. 1,249 1,249 0
1,249 1,249 0
114,003 104,501 9,502
61,232 59,796 1,436
23,339 23,646 -307
1. 5,540 5,840 -300
900 800 100 100,000 = 100,000
4,640 5,040 -400 -400,000 = -400,000
2. 8,240 8,440 -200
1,960 2,160 -200 -200,000 = -200,000
3,280 3,280 0 -200,000 = -200,000
200,000 = 200,000
14 : 2019-09-04




SCRIPT ERROR

( : )
)

3,000 3,000 0
3,460 2,860 600
600 600 0

2,760 2,160 600 600,000 = 600,000
100 100 0
6,099 6,506 -407

4,986 5,386 -400 -400,000 = -400,000

113 120 -7 -7,000 = -7,000
1,000 1,000 0
17,520 17,520 0
17,100 17,100 0
17,100 17,100 0
420 420 0
300 300 0
120 120 0
20,373 18,630 1,743
7,505 4,205 3,300

7,505 4,205 3,300 3,300,000 = 3,300,000
465 465 0
465 465 0
1,760 2,860 -1,100

1,760 2,860 -1,100 -300,000 = -300,000

-1,000,000 = -1,000,000

200,000 = 200,000
500 800 -300

500 800 -300 -300,000 = -300,000
3,016 3,016 0
2,800 2,800 0

15 : 2019-09-04




SCRIPT ERROR

( : )
)
216 216 0
1,332 1,332 0
1,332 1,332 0
1,052 752 300
1,052 752 300 300,000 = 300,000
200 300 -100
200 300 -100 -100,000 = -100,000
0 0 0
0 0 0
4,543 4,900 -357
4,543 4,900 -357 -357,000 = -357,000
49,534 41,705 7,829
49,534 41,705 7,829
19,900 19,900 0
11,000 11,000 0
3,000 3,000 0
5,900 5,900 0
100 100 0
100 100 0
8,364 8,590 -226
8,364 8,590 -226 -6,000 = -6,000
3 -220,000 = -220,000
10,752 8,197 2,555
10,752 8,197 2,555 555,000 = 555,000
3,000,000 = 3,000,000
-1,000,000 = -1,000,000
600 600 0
600 600 0

16 : 2019-09-04




SCRIPT ERROR
2 ( : )
QD)

830 730 100

1. | 830 730 100 100,000 = 100,000
3,588 3,588 0
1. 3,588 3,588 0
( 500 ) O 5,400

1. 5,400 0 5,400 € 1 Z 5,400,000 5,400,000
3,237 3,000 237
1,500 1,500 0
1,500 1,500 0
1. 600 600 0
2. 900 900 0
1,737 1,500 237
1,500 1,500 0
1. 1,160 1,160 0
2. 220 220 0
3. 120 120 0
237 0 237

1. 237 0 237 _ 237,000 237,000
0 0 0
0 0 0
0 0 0
0 0 0
1 0 0 0
473,749 382,359 91,390

17 1 2019-09-04




